Honors Algebra 2 Unit 3 - Polynomials 3.11 — Test Review

Name: V\e\{ Date:
1. Graph f(x)=x"-13x* -36 and find the following characteristics: 4
Increasing . | Decreasing: 4\
(E765, 8) (2.55, @3 (-o0,- 2.55'5 (o, 2.55)
x-intercepfs: \ y-intercept:
(-3,0)-Z,0)(2,6)(3,0) (0,30)
Rel. Max: Rel. Min: B
(6,30) (-2.55,-(5.25) (2.55 45 )
Abs. Max: Abs. Min: ’b
njo e N i) ek
Least possible degree Sign of leading Coeff. ( Lo /
posihve
Symmetry: Ra e.
Fvery aboud | 9" [2(.25, o) |
\!’()\}Ub

2. Determine the end behavior and maximum number of extrema (u-turns):

Ax) 4-3x+ 2% -x +2 f(x):2—4x x*
X >+ f(x) > =0 extrema_3 X >+ flx)> - . extrema 3

X —o flx)o= 00 X —>—o fix)> _~cB
3. state the sign of the leading.coefficient & whether the degree is even or odd
a) J b) S
i
| SHH i
[ )
0 ] .\ ‘II: . 2
; = B-H - B LA
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4. State the Symmetry (Odd, Even, Neither)
fix)=xia2x° —dx glx)=3x* —2x? +1

5. True or False

The range of a quartic function is always (700’03)

Odd Degree Polynomials have an Absolute Max or Absolute Min

A Quadratic function with a negative leading coefficient will have an Albsolute Maximum m

A Cubic Function will have 3 extrema m
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6. Verify that (x + 3)is a factor of

f(x)=x*+9x*+18 N0, no_\.
210 a0
V-3 -5y Jut
| -3 1% -5 Lo

o foche

7. Determine all of the x-intercepts of

f(x)=x(x-3)(2x-95)

(0,03(3,0%(5,0)

8. Given the zeros, -3, 1+ 2i
a. What are the factors of the polynomiale

(e 3)(X- 1120 (¥-1-20)

b. Write thetequation of the polynomial.

(e3) (1) 20) (1) -2
(x+3)[ (x-D* - 4i2)
(x¢3) (X*-2X +] +4)

9. Given the zeros, 0, — 4, \F
a. What are theifactors of the polynoml 12

x (xra) (x- (3 Xx+(3

b. Write the equationrof the polynomial.

Q(szX\(Xz'%B

"w
X2 +X*-X 415 X444 5% -12x
Simplify the radical |
E J_r\/i r i\/f &
0. = 15125 ﬂj'-‘g T E ' LZ_SQ | 7 £ 1
-»+5(5 i S Y1t a‘ |
15 A

Find all of the indicated zeros, roots, solutions, or factors:

12. f(x)=8x>-125

\=2X
b=-5
(2x-5){(4x2 +1ox+25)

<0
%ﬂerdﬁ 5/2 ) -7"—:- :t

13. f(x)=2x*+3x® - 2%

GOF: X2

X2 (2x-0)(x42)

Factors:
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14, f(x)=x>-7x"+16x-12 T&b\e 15. f(x)=23x>-11x*-9x+50 T&b‘e
2,3 -2
7+
Factors: - ’2- - Roots:  — Z ) b — (o
16. f(x)=x*-x>+x*-7x - 42 17. f(x)=2x"+3x*> - 30x* —15x +100
Toble Talle
-2,% -4

f

E;E-:}':"a-Solutions:? ’2—,. ?),. p 2 Lﬁ

| X-intercepts: MMIQ)('@’() )

18. f(x)=%>+9x*+3x-13

Table
\

Roots: \’. '5-3:2-6

19. f(x)=x*-6x>-3x* - 24x-28
Todbole
1, -\

Factors: ‘ X" l 1( X'H I( x "'Z.l. )‘ lﬂZL\




